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NCTE:
(i) There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child

development and pedagogy - 30 questions, English Language - 30 questions and Punjabi tanguage - 30

questions. There are 90 questions in total in Section-A in which the Child development and pedagogy is

bilingual.
(ii) SeAion B comprises of Mathematics - 30 questions and Environmental Studies - 30 questions. The Section - B

is bilingual (English followed by Punjabi).

SECTION . A
cHtrD DEVELOPMENT AND PEDAGOGY (BtLtNGUALI - 30 qUESTIONS (1-301

1 The best method to study growth and development of the child is:

(1) Psychoanalytic Method
(3) Develoomental Method

(2)Comparative Method
(4)Statistical Method

1 E? 6 H t€ kd'F s trforrtd dtd d Fs f gfrlfl fiEd t:
(r)xF-fun*rsrEffi
tgl f<{rrgt{{ffi

(2) g55g)f4fufr
(4) Fir,rfrfr ffi

2 Socialization is a process by which children & adults learn from:
(1) Family (2)School (3) Peers (4)Allof these

2 FHrtrtrffi fu{ {FqFr'} fur d.tr dt rrr3 q'Fdr fuF f furrd ua:
(1) ulir€E (2) FrTs (3) uu-igg Hrfr (4) Sti€ FFe'fr

3 Which one of the following is the true statement corresponding to Cephalocaudal Principle of
Child's Development:

{1) Development is from head to foot (2) Development is from foot to head

(3) Development is from middle to periphery (4) None of these

3 s? e fs{'F + fud-uetrf fus e },rffis frtrs'ard Irfr il
(1)fgd'Efud3.tds{g-E A (2)fsd'F+dJfuds{lrse
(3)fsqrrq3.€trcgag-E a (4)F{''fiEffA$Adfi

4 Determinants of Individual differences in human beings relate to:
(1) Differences in Environment
(2) Differences in Heredity
(3) Interaction between Heredity & Environment
(4) Both Heredity & Environment interacting separately

4 rr-dtri'f€fi?rm rrsF, i firaq-fi fcx rsq fitfog uts:

trl rrtorqea'f€)rsd
(2) kdryrs f€r,rJd
(3) fTdrrs ry3 utorqcs fss rrrgdhl4{'

(4) €1{ * sfl s''r rHqarr dd di €+ fe"'F aA ufutqrs
5

(2) Problem solving relationship & numeracy
(4) Perceptual skill, relationship & numbers

Term PSRN in development implies:
(1) Problem solving, reasoning & numeracy
(3) Perceptual skill, reasoning & numeracy

5

(2) Problem Solving Relationship & Numeracy
(4) Perceptual Skill, Relationship & Numbers

tgE.F fss psnN us s trssq a:
(1) Problem Solving, Reasoning & Numeracy
(3) PerceptualSkill, Reasoning & Numeracy

6 Vygotsky proposed that Child Development is:

(1) Due to genetic components of a culture (2) A product of social interaction
(3) A product of formal education (4) A product of assimilation & accommodation

6 fisffi s Ervif m fdq'6fqE'F t:
(1) md ercfttq# rea (2) Elrrtr4)@,{'dgtrfr
(3) Srsqd funf)r{' d gr* (4) H}fr{t6'"r3 at4qrry d@
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7 Gardner formulated a list of seven Intelligencies, Which among the following is not one of them.
(1) Spatial Intelligence
(3) lnterpersonal lntell

(2) Emotional lntelligence
(4) Linguistic Intelligence'

7 itFirs?5it t t's t'frrrft d 5rS qs'frr A6 firfrfrr{i' f€ fsd ffi ?rtr i:
(r) Fqrtsf, grfr (2) gqsrfi giq (3) )fisd-fe,,{-{b{ yfr (4) srgrs lrfr

I Which of the following is the true statement in reference to intelligence:
(1) Intelligence is the ability to adjust (2) Intelligence is the ability to learn
(3) Intelligerrce is the ability of Abstract Reasoning (4) All of these

I ymEffiqfggktrE Eq?lFfiA:
(t) t'frrfl4;={FdEdfrdrs'i
tgr gfr Ffl{ sil{ d Adrs t

(2) ll-d fnrd d fr"drs't
r+r Sr?ag rd fr

9 '? Child can think logically about objects & events" This is the characteristic given by Piiget ofitage:
(1)Sensory Motrir (2) Pre Operational (3)Concrete Operational (4)FormalOperation

9 "dgr €riprfi rlfg urc?rr+ q't s-dl66 €ar a'ir Hs rcgT tt" fw fisfrE-s'" frpr{l'fr es. ffi
rrf<3Frrf 6s fudt ars i:
(1) tr+d tt{ (2) yt{-fruard (3)E_qrffi (+) $re'n{fr-s's?l

10 Which of the following does not belong to the categories of Coping strategies that women'
commonly engaged in:
(1)Acceptance (2) Resistance (3) Revolution (4)Adaptation

10 fu-trEr €lit Erq:q, EErsi E qSrili. ?r'6 *tq Ftr dqe' fuF f€ )fu rrr+r +d'3 r{rg3
sfilfaf ird:
(1) F€f.{* (2) Ufueq (3) qd (4) ),fd;trFg

11 What should be the role of teacher in meeting the individual differences:
(1)TrV to know the abilities, interest & aptitude of individuals
(2) Try to adjust the curriculum as per the needs of individuals
(3) Both (1) & (2)

(4) None ofthese
11 ffifr trsleqir66$ aftirr"rE d fr ghrd'ffi sqffit a:

( r ) fer*31ar gfi{i' ffif, ES lf3 {ffi O ili-F
(Z) fqz1rq.$atr gi|,ilr tgr 

'1UFr6. 
ur6rqg Og1TrS

(3) €+ (1) 
',rg 

(2)

(4)gle€H'dddzrtr
T2 lf a child has mental age of 5 years & chronological age of 4 yearc then what will be the lQof child:

G)12s (2)80 (3) 120 (4) 100
12 * fuq T? S H.dfu{ rrrEr s Fr6 rd-3 d.qfrtd rrfrg: 4 Fr6 a, st' d€ s te il i€m:

(u 12s (2)80 (3) 120 (4) 100
13 Which of the following is not the tool for Formative Assessment in scholastic domain:

(1)Conversation Skill (21 Multiple Choice euestion
(3) Projects (4)OralQuestions

13 frfrr,rrrsrtr tgd fqs drracrxEr LfundE er Sffffi ktrE trfi ?:
(1) ea:tr64l ErtrFs (z) Irlr-fiscsr^il €u er& rfm'
tsl q+tra (+) ffira qrr

t4
(2) Alone with higher classes
(4) Only when they want

A few students in your class are exceptionally bright, You will teach them:
(1) Along with the class
(3) By using Enriched programmes

t4

(2) Ffrr{r dltrr' d.g
(4) asr 9g se'Qo u_qe

grd.fr sFrF f<e gs ffi fi*F +d t t'fi{-s Tdt Erff tr tr uqff'
(1) 6r6rF3erry
(3) Ffuq t{dfti d se3'aa i
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test is that of ldentifYing: : r: " :' :

(1)The General area of weakness in class performance

(2)specific nature of remedial Programme needed

(3) The causes underlying academic difficulties
(a)The specific nature of P

15

15 ffiir{ ufirrcer Lfu }i-s€f{F8 rrsqrffir }:
(1) q-srF €'r{-gcr6 fegd){frfi eT HrqE-6 t'3-d (2)t=ffg gus-fr td[r}{A fiEHsqffi
(3) )dErrEn{a UHfu € E-ca' t+l ffiearrasar

16 Special education is related to
(1) Educational programmes for talented students (2) Educational programmes for disabled

(3) Training programmes for Te

16 fiEfgfrfir)rf" fcr rry fi{fus A:

(1,) LftHeruma'rr us frfif)t{' {df'H
(slarfoarrrrdi cffi frrs'S qgft{

(2) ftrdd'-dr Helt-oftt'effi frftf',l'- qgft{
(4) rrr€-dq

L7 In CCE, Formative & Summative Assessment totals to:

lLl 40% & 60% respectivelY
(3) 50% & 50% respectively

(2160% & 40% respectivelY
(4) None ofthe above

L7 T6 fs A'

(2) q}fgir 6ov"tt3 40%

(4)gr&rsH'AdA Ffr
(1)qlrgd 40%rrIJ 60%

(3) d)t?fir 5996 ar3 so%

18 Frobefs rnost important contribution to education was his development of the:
(1) Vocational school (2) Kindergarten (3) Public Schogl (4) Latin school

18 Q$u u fufrrlrrr fire f + rrdsqfrd ifdrE'?r9r s,
(r) lHwrgrssk"r'Fm (2) fdEiritrdeder fgarrn
<g) uqfiga rerF i fgErr m tql tfzis'r-*s s fs{q fr

19 Which article enroins ttray'nn minorities whether based on religion or language shall have the

right to establish & administer education anstitutions of their choice"

(1)Article 29(1) (2)Article 29(2) (3)Article 30(1) (4)Article 30(2)

19 IIi'HPfdi ,rtE€g f€ fgd fffiq'h, od lrfstf-fififtrfr g"i gU srgr e rrtqrFfg irtr gt

€tfd, tr O afrq.{t uf,€ ifi eS A fiFqr Fqfirs tfj E'trs dird gt }rffu*-d A:

(1) ),{d;ae 29(1) (2)

20 lf a ctrild writes 16 as 61 & gets confused between b & d, this is case of:
(1.)Visua|lmpairment(2)LearningDisability(3)Mentali

20

-

FFA fi 16 furre' A tr3 b tr3 d f€ gsv f,trer i, foo fqr e eE A:

(1) fu-rA k"rd (2) fmfa ftraB-ors tgl H';frfl Ffld t+l x'6fr{ }'f€eq

2L
2. Use of black board
4. By active participation of students

1. By sefting inducion
3. By illustration

A3 a teactter what techniquls you would follow to motivate students of your class:

(11 1.2 & 3 (2) 1& 4 (3)2 & 4 (4) All of these

2t

I qFrrsF fta *ai
3 F€rg'd'fr
(1) 1,2 Df3 3 Q) L4{e 4

atftrrrt"la e.fr'srn' ryrrr$ 6ru'F O fiEfezr-sdrrtt fi ,fFrs rt6 €rrg ffi gtraif fr €dS

aiifr:
2 stdErJdsdS'
a ffiprrofrat' d ro-cnor s}r$tt:J d'fr
Q\ zn+J q (4)Sr?€Fefr

22 wtrat are the factors related to learner that effects the learning:

(1) physical & Mental health of the learner (2) Level of aspiration & achievement motivation

(3) Readiness & Willpower (4) All of these
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22 Fsftrarafr pu fitfogffi 6rkr6r ir?l fiffi3 fmrdguerrrrcueg or,
ttl frfirat-u$ s rfreE rlr3 x'6nrE rfsrtr
(Dtm+futr lr3 Srssm ),rFrFd S uqr
(3) ggttil=rr r,r3 fub-HTS
t+l$r€qs E a'fr

2g Cogn itive Development mea ns:
(1) Development of intelligence
(3) Development of Physical Skills

(2) Development of child
(4) Development of individual

23 frfcnragtrE f€'F s trsng a'
(1) gfr s bd'F (2) st s f€qr
(3)rfrrd ErFs'=rr s b"rr (+lf<al-*3f er ftq'rg

24 Creative writing should be an activity planned for:
(1) Only those children reading on grade level
(2) Only those children spell & write cohesive sentences
{3) Only those children who want to write for newspaper
(4)All children

24 inrarguEr *trdrfg{ drs?fiEfr ffi v.dfi t ffiF fr rs. ffi ers i€:
(1) iie?F qo qt'fiff3'd^ra &gg i rr{ a} us
tzl *eo 9o yA firr3 sre-i"E ),€'ft_wcs erq f6u r*B oa
(3) As{t 9o sA }rftrqrdi'68 furrd's'ti us'
(4) ra trt

25 Which of the following are the External Factors affecting the interest of students in classro6n*
(1) Emotions & Sentiments
(3) Attitudes of students

(2) Culture & Training
(4) Goals & motives

25 argqgtf fee fqfery"afrart d ferorr.fr tr rF f{s air6 €r8 qqrdt ara fcu* ua,
(1) s€r,,r3,Fdr.d
(g)feffi,marrrffiir

(2) f,rrf^{* rf3'fiT'fg.s
(4) FdF x,r3' gh

26 Aninte||igentstudentisnotdoingwe||instudies.Whatisttreuestcouffi
(1) Wait till he performs better (2) Find out reason for his under achievement
(3) Give him grace marks in the examination (4) Ask his parents to withdraw from school

26 t'fit{E fulffS u{r$ f{ sfi rfi aa fuotr arftrarnrE €'rA drrerfr d rd i|. frrsrd fum-
6fr a:
( 1 ) ff6' kd gF s TdH6 t-trsd Ffr A f,iE, fu fsd ffJfr.d ae.
(2) gr+ A ufa $reiflql er ffi6-HrgH di'
(g) ufrnf,,{r t€ fr O fert.H ),fd, f€€
f +l 9r t H.ftrm O ai fE gr O rys f€€' ira *d

27
(1) Similar test questions
(3) Transfer of learning

"D{-e 
# us s frszgr+ f,'tq fqr Frs A:

(1) Flr6. ufifinr qm
131 fiftra s in=r€ira'

(2) Jealousy between peers
(4) Group Instructions

(2) uH--tsq f€d'd Erdf.
(4)Hlfoar frfifif.

The term ldentical Elements is closely associated with:

27

28 Who was the pioneer of Classical Conditioning:
(1)Skinner Q) lgvlov (3)Watson (4)Thorndike

28 rsrffi ',r6;grd 
g lfitElitEtr fu fr:

(l)Hfdrd (2) +€SE (3) +aH?r (4) +trn.'€d
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29 It is said that teacher should be resourceful, This means that:
(1) He should have enough money & property so that he may not have to take up tuitions

(2) He should have contacts with high authorities so that he may not be harmed

(3) He should have adequate knowledge so that he may be able to solve the problems of students

(4) He should have good reputation among students so that authorities may not be able to take any

punitive measure against hi

29 fsd fa.U'ile'i fu'arfuarua Frq?5'-hfd A€'sr-der Ar FeF er trssq t fr.:
( 1 ) gT A5 )fu' 0TT' rr{-3 f,.be.E te fq fr O @ ?t' TtaTlt' t€
(2) gre'F l{fotrfr},rr Ftt fru-ffl te $ fu grs 6;{Fr6'6r i FA

(3) gT A?r SJg-a-s tdprfrd ie si fa' gd fufery-uftt' qfap mifuatrEr 6 u5 q.d FAI

(4) 9F g1 1q;eryrufrar fR ffi r{fsr6'te s' fu r}rftra fr Qu A f}rs.6 dS €asra ilir€6 F
6kIFrAr

30 Which of the following Motives are considered as primary motives:

(1) Physiological Motives
(3) Social Motives

(2) Psychological Motives
(4) Educational Motives

30 fiilr3 {ffi 6 {rqhrd {Atr6 fird' fiE A:

(r) rfic-fieforarrE qqffi
(3) FlIrflEr qAffi

(2) HEfEfurryrFd UfrTs.
(4) fufira,era Ufrffi

ENGUSH IANGUAGE - 30 QUESTIONS (31-60)

neaO ttre passage carefully and answer the questions (q. 31-37) that follow by choosing the best

alternative:
ln these times of worldwide skyrocketing energy costs, experts are turning to perhaps the only

energy source that is still immune to price fluctuations: the Sun. Economic necessity appears to be

largely responsible for the rapidly growing acceptance of solar heat as an alternative source.

Electricity has been a clean and versatile form of energy that continues to grow in importance for

lighting, heating and cooking, and for powering our increasingly automated and computerized

society. The demand for electricity is expected to grow more in future than the average trend in the

past. A mix of energy sources is required as hedge against shortages in any one area, and the

electricity supply companies are taking a second look at renewable generating technologies,

particularly those based in the sun. Every 15 minutes, the sun delivers to earth radiant energy to

meet all mankind's power needs for a full year. But harnessing this energy is complicated by two

properties of sunlight: its diffuseness and its variability with time of day, season and weather

conditions. These factors pose formidable technical challenges for the efficient conversion of solar

radiation into bulk, utility grade electric power. Nevertheless, solar technologies are attractive to

utilities because they are environment-friendly and offer a low regulatory risk, limited capital risk,

and less lead time.

31 WtrV are experts, according to the passage, looking at the sun as an energy source?

(1) due to depletion of other sources of energy
(2) as other energy forms pollute the environment
(3) increasing costs of other sources
(4) all of the above

32 Experts are impressed with the solar energy technologies because...

(1) of them being good for the environment
(3) thev can be employed in quick time

(2) they require less investment
(4) all of these_

33 Why is sun such an important source of alternative energy?

(1) it is available free of cost
(2) it is available everywhere in the world
(3) it can satisfy human energy requirements alone if tapped properly

(4) all of these
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34 What is the major difficulty in employing solar energy?
(1) fluctuations in weather
(3) sunlight varies from time to time

(2) by nature sunlight is diffuse.
(4)allof these

35 Why are power generating companies looking at mix enerty options?
(1) the sources of energy are getting scarce but demand is increasing
(2) government is controlling prices of electricity
(3) alternative sources of energy are available free and without regulations
(4) all of these

36 ldentify the word closest in meaning to the word: "VERSAT[,E"
(1) limited (2) resourceful (3)permanent (4)invariable

37
(1)alarming (2)frighlening (3) terrible (4) insienificant'

ldentify the word opposite in meaning to the word: "FORMIDACLE"

Readthepassagecarefu||yandanswerthequestions(q.3845lttrati
alternative:
The political system always dominates the entire social scene; and hence those who wield political power
are generally able to control all the different social sub.systems and manipulate them to.their own
advantage. The social groups in power therefore have always manipulated the ed;rcation systems,
especially when these happen to depend upon the state for their very existence to strengthen and
perpetuate their own privileged position. But herein lies a contradiction. For the very realization of their
selfish ends, the social groups in power are compelled to extend the benefits of these educational
systems to the under-privileged groups also. The inevitable task is generally performed with three
precautions abundantly taken care of: One, the privileged groups continue to be the principal
beneficiaries of the educational system, dominate the higher stages of education or the hardrcore of
prestigious and quality institutions or the most useful of courses, so as to safeguard their dominant
position of leadership in all walks of life; Second, the system is so operated that under-prlvileged groups
can utilize it only marginally in real terms and the bulk of them become either dropouts or pushouts and
get reconciled to their to their own interior status in society; Third, the few from the weaker section that
survive and succeed in spite of all the handicaps are generally co-opted within the system to prevent
dissatisfaction.

38 Who,accordingtothepassage,canmanipu|atethesystemstotheiradvantage?
(1) social activists (2) popular people (3) political powerful people (4) all of the above

39 How do socially powerful people try to maintain their privileged positiorn
(1) by maintaining control over political systems (2) by maintaining control over social systems
(3) by maintaining control over education systems (4) all of these

N why underprivileged sections have to reconcile to their inferior status?
(1) they are unable to effectively utilize the education system
(2) they have no interest in the system
(3)they are illiterate
(4) all of these

4t Whichisthebestexp|anationastowhythefewfromtheweakersectionthm
in spite of all the handicaps are generafly co-opted within the system?
(1) to prevent the revolt in the society
(3) to augument the position of the privileged class

(2) to satisfy their instinct
(4) all of these

42 which system, according to the passage, dominates the sociaiiystem? -(1) political systenr (2) education system (3) caste system (4) monetarv svstem
43 ldentify the word closest in meaning to the word: "PERPETUAiE".(l)abort (2) ruin (3) continue (41 omit
4 ldentify the word opposite in meaning to the word: "pREsilGloust.

(1)obscure (2) influential (3) esteemed (4) impressive
45 What is the major idea reflected in the passage?

(1) powerful people are unable to fully control the system
(2) major benefits have been snatched by the underprivileged
(3) both of these
(4) none of these
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Wtrile writing a notice, the writer should prefer"'
(2) passive voice {9 (4) none ofthese

Where wiltyou add disclosures in a letter?
(1) below the signature and the right side margin (2) below the signature and the left side margin

(4) any of theseabove the signature and the right side margin

?honetics' is basically associated with...

Remedlalteaching...
(1) fills the gap that creeps into a pupil's learning

(2) rectifies the concepts which have been misunderstood

(3) helps in retaining homogeneity in the class

4) all inclusive
teaming a language is a...

Study of meaning in a language is known as...

"RE6ISTER" is...
(1) variety of language according to region in a particular country

(2) variety of language according to countries

(31 any of these

(4)alveolar/m/ sound in the word 'make' is....

W6ict of the follotin'pr*ns of speech is also known as 'VE[UM'?

The maior diffel€nce between an 'ARTICLE' and 'SPEECH' is""
(fl speelh is more formal (2) speech is more informal

4) all of these

Commu"icative Language Teaching replaced basically"'

(1) Natural Language Processing (2) Structural Teaching
(4) Motivatio!9! lggchllg

4) none ofthese
finU ttre word nearest in meaning to : REMORSE

Flnd the word opposite in meaning to : lNSlPlD

tdentify the correct passive voice of the sentence: Obey me'

(1) | should be obeyed (2) Let I be obeyed

both, a and b (4) none of these

Ftlrd th€ appropriate pr€position to fill in the sentence: she lives ....... Mumbai'

{1) at (2) in (3) into (4)on

PULABI TANGUAGE - 30 QUESTIONS (61 -

t s'-d gH fiEff fsd f{ gbd fif: (Q'61-58)

',ffi E i FHnr it ir'el=r fr s{' d A dIS A fiffS W a'r6d ee fr t raTr 3 uffi' frt ueir d
9-6.g-6-9. ?}fus fcrfr F,rfrdqr err€ a ilfr a fiffi g 6fi {ir3' E'4{r6d. f5d.5 ut us'ty6, ryq,
qras'ir, 3-dtrfirrrr ar3 ffirrs e, Essrr A' fdrbr. it arrr 61 6s5s61lrs }rd dr$ i ',fa

fr-arf,. qu.s A tdr,'f' tr fw Eir qrv m',fJ Fril3 e,rFg A tcdT ir 4{:rg }fl-s g-dm4{r €t gr+ t r-6-'{

S fi'r-r ri- n-r'3' yrfulrr firtr61 mrd sfi 1-d figd- 3f,r eT frrf;r#-Efrrf;rfi Tdd'' €"btf'Fr ldfl

i to tss uqfulr r'g t$r+.Sat, ar3 sffiat' ffilf'' iTr ilfilfi T6l fr€--3d )'f3

a-dr€i'-e-dr€n €t iT'trgE urgd 6grd ds6 da uus +d 3r 6-ffimrr k fir6'F 5tr dfr fiFrF

g fua si'dryr-!!-sd rT!-drd iI itTs ir6.$rd'a il arB oa),r3 Hfirdi's )rrtD{rs' fr+ m @g::-fgd trscsfr
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5 Tfu{ ir6, 33re ofslfi lnfi aq sq tol t r{3 su-sd-d fr,,{t ure;rei *n arq-<q nfrrp udl
fgF ffi ufut-tf,, €-fir,r''-Eril ad trur,r* t ryors *ea,.e?r'ura'€i'ffi-futa.sq rd',r, ua'r
fc*Sa'firrcd Sesfugxprdfo,{i s t-aforfi fiFftftrfrs m fuol. }lunrs."' f€H-ffi.
fr iTil ?rs fifr€.J aits * tcr ir fosx'rs,,f3 fue.dd rre _? i pa ftSfeur a'5 y tr-+aDrt
i' fr uorrt ir6, lrirferrr o a afpr rfi * fao,r ags Efr a ai ua ar3 t-qm;.o e+fr v; at us.r
FrFEr <aiil + t$e"b,,ti'g r,f3 €mfut{i J dq Frrfuere rd _'*dr e aF d5 at usr q"ilfr..u-sr t F B
3o-ee ilutr€T 

"r ff t frtrs. uau d ?r'E fse uad Fd'rfi F Hffi fr )fi-fr+r A fr6,, tl rea
aa'.r 

"f3 
rog nra ftu Eplr fce e+w e qf6,,{r e fiiorq ve i afo arsar uar

r,ffr E nm$ inruirfirt ffi t arfr A:
(1) arittr a il$ t e)frrdra fsd'F a idrrrrr a
tgl illr ?rtla te Ffr t Tr6'H J ufu, e'd A dr$ i 1ay rysfgr1-a. i, ar$ ir
fscstlhrgffirre drfr Aa€ ft'ffi
(1) fw Elr enr tB r,r3 Ffds ES A icr ir tzl fu gr*swa E.es.i lcu ir
f g I fu tl-s{_a€di'-firs' g fatd'€ @ O ilfru sS gv nfr ra afr r

lFyd sd frrB s rgu fag atsr fiEr i?
ttl ttfoE rE rtma-cc'
tg) ilfiFlEtrsd

(2) f6rfr e€irr drfd
(+l fuF i-d EH'fiT{ ara are&r

tryr rTvlrt er EGr6 ffi trsr +fe'ir
(1) t+Irx dfuarte H'firl{i'3'qur tE sS (2) ffi a' fi+ra ari

rar F6 . fss"s ffi ild Eaa'aai
irruE rur f€ rdF n u fut fffi'qf,s€ atsr rr.gr A?
(t) tffifiit E; Ueg €elfr,{r fu$r,{t erifiatr ua
(3) fwrfr Hfifdr t

(2) fu6 iT 6S efi),f' 3qafi frgT gr$gq A
(4)Ifi# S a-c'asfirrEsfie.r'.e il

u'EEr €ir6r €t {frtfr fdF {fdr fss A rfr il
(1) ea e'r3 +d r_d$ gdit srgc fss tzl Ufafurrr O fu'fsgdrsffia

(4) EHtrTisf€ffi dfu€{ile,r,u'"rtdtrreE
qdfrffs" e ?rf B afr i,fro'?l
trl q-dnffi urrrc6'i ] ryrs1gr6 urd s?r fdd. t
(3) idr€TE A'E f€ ar tco' t

(2) rlitH u t{€'a i' tfiI' a
t+rHH'ASAFff

ffi tfallrt siil dE ft'rs dfu fsrar tl
ttl re2tr'3 rsrg ym firru (2) ie €.& q€
tgl qdlf o EaE d (4) fEfrr fr€. a€t €t Ffi
trE fr-te O ftrlrrm ?srs u{ A b
(Q. e+'zs;

',r+T 
}6. egrHr gtg €'lTrr

diffiB re fuetrqi
u?argfEdrFrFS trsc
aqscffrsi
9o *re'€ aqer filr6i'
9uilE ilffiE
ilrutro9qw
i p itee&r

f': t;

P-l Test gooklet code- A
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59 tr a'e-re g}lrft Uffirfli' € gdt O Frqrda erir=rEr fi€ir firii:
(1 ) f,dr g tre.6' ke tre6 sdr drt5 e'fie it
(2) fr s o{D{r # tdrr{' a',€' re dd-g}fr fue F" a:9 dr+rd' eds t t

(3) fr 7,r3'fsrq g frs'6 fuo rs qv fr{ lrg }r
(4) dd-g!fr drfrd 56 fr t?

70 Tdr'ffi g Fxtl-tliilra gre fcil# tt
tgl fadrr.6' r+l dd * srYo(1)ad gddr (2)€s

7L fis?rrlg s fe?fr nsefqu+ tt
ir r i.rf;#rr t.yf51t+r f Si tfg6gr.fr <+l f-gefS' -

72 ,9r frret d aryg *re:'eT fre:'6ft frat'fgs f{F ?f$;ard Ct sdtr ftfr iilgT iI?

(1) iru Dfr{.d (2) gga. Df&{-d tgltfffi an*q'd t+l },{c;{'H lrrdng

73 '*H€r's l4r-uitra grz fufr fieif fTfE frf, A?

(1) g11€'l€.rrea;' (2) Tr6Hrya

74 Jt erere f aft gq it
(1) y6 eind (2) frF

75 fuF q.fu-tefggfiilr3'df d gorm ?i
.(l)HEraH tz)fforraar (3lEfl-diL _ (4)ssr3ilar

76 fird* gm ds ryqrs trd' g''r'B' H fr?s t t

/1\ rrf;rrfr arsr tZt sfr a'rrr (3) HEI yF (4) tdgrFr

fvfra$ gr
(1) HEI YF

rgsfiEtr qfrs ees it
(2) gfr srr (g)ffiffi (4)sl-tr

77

78 *s',rre I ssqd?5'figfffiilf5 gm droffite tt
(r ) raa E.s-a (2) r€-6, u{6 (g) uf,5 f61fd. (+) Es-d futfc.

79 rg-s fi+tr gT fiilrg gr fu6 ft?e' t I
(1) E6€ u{6 (2) E6c- f6lfa (3) futfd tf{6 (4) tff,6 Fa6

rg eg1 ed ffi, rffi g's' f,Hlf€'A si'glT 6S fiilrfr gr Affit
lryx'gs"rr' (e)f,s'F (s) ufudsry (+)ffigw

80

81 gry rxrrs€ g iii8 qu us ?

(1) fS6 (2) srn (3) e (4) lrn

82 ew 6 futrser$faer+frt;em6ftt ?

tr I grgw tzl fsrfr tgl t€,,{'rdqd (+) d-dfr frd

il ffi fFFc uA fqrrrr*rc trdgElfdts' its rrre' TtS t ?

(1) il (2)5fi (3)FfE (4)us 5fr
d arrslr gm frirre fise Hw ree?tt ua ?

(1) il' (2)fur-tr6rfi (3)trfl {fl3 (4) F fsE

lg* fnr€ ud rg f rrr*eYm E?s fr Ss i I

| 1r I u-a wgq' tzl s&{ Eilr tgl qga45 t+l t{ddlrry

83

84

85

86 )rrfia nt figg Fs f, * rragsyf,s x'qa fqu* tt
trlrmrga tzlrr-owgn tglfrulfi€ (+lTtdE-f,r

dFsr,{- €il g'F mlf€ d Frdq'f{F s$i rrafi rtr* f t

rrr rsqaffi fzt Mso (s))ifird
87

88

-6*' 
sas.gr ffifsusfiililsfiefr)r€{tsa ?

(1) U-ffidffi (2))r{d.€lrEffi (3) tf3l{ffi (4)d.rd-frf€d

P-l Test Booklet code- A
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89 )rrfrA Ftlfse'fl-d;€€ffi ffi Eq{q'qi t
1+1 feamrs ',{d€€

(1)yd6'),,E;€E (2) ,rBjrdd,rrc;€rE (g) !frd ),{E;€€
90

',ria nT fes gr frtfg S Ct ffi ffi ryrrdr'm;r'ufr A l-
(1) Tsrr3n{ ryfq},flra (2) F=Hfud }rrforra.m

(g) f?,ffSdg rrfolrnftr (4) gsrs €rg|rEd?',),{for,,Iar6

MATHEMATTCS {BIUNGUAT) - 30 quEsTtoNs (91-
The graph of the equation y
(1) parallel to x-axis

:-4 isaline
(2) parallel to y-axis
(4) none of these

F{lTtd y :- 4 s ir[B fu{ }tf' A:
(1) x - arEri HHrF=ftr 121y-tttd1t p+-6rgO

(4)SI?agH'Af €rfi
The angle of elevation of the sun when the len
length is
(1) 600 (2) 4so (3) 9oo (4) 18oo

mF ffi €r aE, d'trgF qee e1 .rf,drs d d;s'6 rr a f{'et t Tdrd ag, },
el4so (3)9oo (4) lsoo

Sum of a number of two digits and the number oU
is 110. lf the difference of the digits is 4, then the number is

(4)sr
g rffi S fifrfrlf'sr f,F rlrg ufird frfr{rrf'A rffi O C{rc'A
Dtga c t stfrfifrlf'A:

(2173 _plq4 (4) s1
A and B can do a piece of work in 4 days and A atone can Ao it in@
alone can do this work?

f trg B fw *r{ O 4 fsdt fss ro mr0 ua ur3 e Hier fttr
Htr fsx *lr O fidl't' M, f€ Etar':

A man travels some distance at a speed of fZ km/n
by him is 2 hrs 20 minutes, then the distance is

(4) 12 km
fgf, rrf'efr t2 kmlhr d ursry ?tE gv Etl
TqY tr* 91 6 fuF fsg gv m{r 2 ,r? zo fira dfdr,,r'Ag, $ gfi fffi A:
1) 18 km (2) 14 km (3) 13 km (a) 12 km

In a two digit number the digit in ten,s place ex
digits is Ll7 of the number, then the digit at the unit,s place is

(2)4 (3)3 (417
€ rrfd+ €.m frfu,rfr fgg, gF+ qi.g ftI)rfr )rtq Uffi, )rTA e
ffiflr v tlt t, gt rrfod qt, a frr)rr"fia t:

(2)4 (3)3 (4t t
The area of a square is 64 cm2'Then its perimeter is

32 cm (3) 4Q cm (4)48 cm
fw gear er tgir€rg 64 cmz ir fu e' rrtsnnr t:
(1) 64 cm

P.l Test Booklet cooe-;r
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98 The HAF of two numbers is 11 and their LCM is 693. lf one of the numbersisT7, then the other

number is
(1) 83 (2) 33 (3) 99 (4)Noneofthese

98 tffifl,r-+ el HcF 11?,rg tcM 693tri'fea fifrfrfr 77 A,3i efr Ffrrr,r'i:
(1) s8 (2) 33 (3) se (4) Ffl k€',afr a Ffr

99 Find the smallest number of five digits exactly divisible by 16, 24,36 and 54.

(1) 10358 (2) 10432 (3) 10s60 ( )Noneofthese
99 rig rire' e-d ea f eA fifrf)rrr ryH de fffi g L6,24,3u ),r3 s4 a'rlt yrd sf' €fa-"r' rn ri:

(1) 10368 (21 to432 (3) 1gs6o (4) fufl fu€'ad € dfr . '

1(x, ihe average of seven consecutive numbers is 20. The largest of these numbers is

(21 22 (31 23 (41 24(1) 20

100 #B {frr{ fihr}r{r€i'd }tTFs 20 Alfi.rfr H'rcf # frhrar t:
(3) 23(1) 20 (21 22 24(4)

101 The ,.1,r." 
"f 

th" gre:tesi sphere cut off from a cylindrical wood of base radius 1cm and height

5cm is
A.A

1r1 f (Sn) cm' (2) f n cm' (3) 5n cm3 (4) none of these

101 rcn ferrq-cqt g scmgiIdi Drrqrde-ddudTsf a? # d*slrrfiwzri:
1r1 $(sr; cm' (z)$n cm' (4)fuflH'AdArfr(3) 5n cm'

102

@#
Rational expression

,rrfu\4, x+7

?in the lowest form is

,^, x'-x+7vta- Bt#
102

@#
f€rs r gu fi+e ufdfirrr f€tr{

@+
t'-t +.T"' H#$#

The circle graph given lrere shows the spending (in degrees! of a country on various sports during

the particular year. Study the graph carefully and answer the next three questions. (Q. NO. 103 -

10sl

1ga ffs'f€ fd3-d fud H,F srs f66 fi*R +F d'fgfd6 tBi'frre i''B tres (frdrfr tss)

fr sdg _€tr ir fw iC-sd er forrfm Frg 'rrforr?d 
ae ,rr3 )rrdrt fs:d r{Fd' e gse ffi t

(Q. ttO. 103 - 1051

103

0t p+% (41 4s%Qt 22!;/"
Whit percentage of the total spending is spent on tennis?

(31 2s%

103 g6trd-a 6fft
$t e+/" (41 4s%

{FsFs'2ttr grrd Hitq atd irffi i:
Qt 22+% (3) 2s%
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to4 lf the total amount spent on sports during the t
and hockey together was
(1) Rs.8,00,000 (2) Rs.80,00,000 (3) Rs.1,2o,o0,o0o (a) Rs. r.,60,00,000

1Q4 * ss t',*ora b €tru nes EH gn d6ry z ari's i, gt fq4e rrfg U"qt gird fr{6' A }ta-s
ffi aErrfr:
(t) g,oo,ooo-arra (z) so,oo,ooolrue (3) 1,2o,o0,oooirG (4) 1,Go,oo,ooo_atrg

105 lf the total amount spent on sports during the year be Rs- fAOpO,O0O, the amount sprgnt on
basketball exceeds that of tennis approximately by
(1) Rs. 2,50,000 (2) Rs. 3,60,000 (3) Rs.3,75,000 (a) Rs.4,L0,000

105 i xu fsg H $re rrev ffi gu ir6rx 1,80,00,000 ErrrB ie
efdr grrd f3, lrf,+ r'f raryar fuzr dq i:
(L) 2,50,000!rut (2) 3,60,900_il€ (3) 3,75,000_rruB

s' wr*dg Qire afts' rray'

(4) 4,10,000lru€
105 The radius of a sphere whose volume and surface area have same value, is

(1) 1 unit (2) 2 units (3) 3 units (4) 4 units
105 fsq tr s fgryrrrdrr, ffiF e r?r'fss6.ari rgs tga er F{.s,.UT } 

-
(t) t fr;z fzl z gf?ta t3l g g,fuz @ 4 gf6z

LO7 f n the number 3.4625, the place value of the digit 2 is
(1) 1000 (2) 1oo (3) 1/rooo (41 rltoo

to7 3.4625fiftrry fee, z )ira s re.a.fr i:
(1) 1000 (2) Loo (3) 1/1ooo (41 lltoo

108 Divide 50 by half and add 20. From the same, subtract 35. What do you get?
(1) 10 (2) 8s (3) 1s (4) None of these

108 so g ffi F.lr €i'),rg fuF fes zo fr"Fr gr fug
(1) 10 (2) 8s (3) ].s (4) fsdT m.a,s d 6fr

109 What number should be put in the blank box?

(1) s (21 27 (3) 36 (4) none of these

7 5 9 18

6 3 7 27
4 3 9

7 4 8 24

109 H'-d s{i f€ ffi Ffrf}?t' di6l sffi i:

(1) s (21 27 (3) 35 (4)fe?r' H'AS d Ftr

7 5 9 18
6 3 7 2t
4 3 9

7 4 8 24

110 What is the next number after the following? 4,9,25, qgt
(1) 64 (2) 81 (3) 100 (41 t2L

110 iI-6lgftf}?fr rrrnfe 'rdr6t xf,f,,fr at i: 4,9,25,49,?
(1) 64 (2) 81 (3) 1oo (41 L2t

111 wnen rne numerator ot a tractlon is increased by d the fraction increases by Zl3. What is the
denominator of the fraction?
(1) 6 (2) 7 {41 Nonp nf fhaca8(3)

111 T TFd GT5 g 
'fIT(b;frrled) fr i:

(1) 6

fq|s 4 <w ffu fie' A. si ftil' zls FrF €rr e'rfr tr fiia er iru

(2) 7 (3).8 1a1fo5iHff f, r+
tL2
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ttz r)(x- t),(t' -
tr) (x- r)

),fg (f -r) s xcri'
Ql bt -t) (3) ()d: l) (4)(x+ r)

113 The mea" of fi"e numberc is 26. lf one number is excluded, their mean is The excluded number is

m 20 (2) 1s (3) 30 (4) 34

113 ffi r fr fw frfif)rr E de fisb' fr€, s' firfl a *rs zc tt # fiftor' i:
(1) 20 (2) 1s (3) 30 (4) 34

114
5(3)

How many carats are there in one gram?

(1) 3 (2') 4 (4) None ofthese

Lt4
5(3)

f;r agn fss fdd *ea utr:
(1) 3 (21 4 (4)fs{i fie5. Ag1 Ftr

115 a p|ot ttas width of rt4 feet and length of 90 feet. What is the size of the plot?

(1) 5OOsquareyards (2) 450squareyards (3) zt4Osq.yards (4) noneofthese

115 nea,rs'z d vq"d lndz ',rA dE fr 90 3-e tlrrs'-a s x'fis fr t:
(1) sooetrilinfr (2) 4sOeiriililffr (3) rt4oqrdtH (4)ft?frfisE as Atrfr

116 One of, ttre students of a class hardly talks in the class. How would you encourage him to express

himself?
(1) By organizing discussions
(2) By organizing educational games/ programmes in which children feel like speaking

(3) By giving good marks to those who express them'selves well
(4) Bv encouraging children to take part in classroom activities

116 {s'E fge f;sd fisFezrefr qrs trgfuit a'5 EFs ir gtr grr O tfnrg 
"fru F feDrag Tra

sFs r{- e3F'rils dffi:
(1) sdsr+ s ardes'ae it
(z) fxfiratr$ff ta'Z[op+ s arlfrna'T] A fire dA B'Fd'rrfre Tilg T6,l

(3) gT 6 ffi lrd e a ffi l,{nrE 
"lu 

g €infr 3f'f€rrf{s q€ ua't

(4) sfsr,{r 6 {s.HIrH ardtgfrr,{, tss
tt7 Success in developing values is mainly dependent upon:

(1) government (2) society (3) family (4)teacher

tt7 fiqE rfrs rtr fss mtFT tru +d 3 fdF 9rro f;rerc i:
(1) HitEr (2) HHril Alufu€rd_ (4) atfoa,rq-dr

118 Each digit 1, ,Ff"5^6,2!g and 9 is represented by a different letter A, B, C, D, E,F,G, H and I but not

necessarily in that order. Further each of A+B+g C+D+E, E+F+G and G+H+l is equal to 13. What is

the sum of C, E and G?

nt7 (2)e (3) 11 (4) Cannot !9!91leq{1991
118 ua-E t rq t, Z, !, 4,5,6,7,8 4e 9 6 fdd aitrd A, B, C, D, E. F, G X ar3 t glff gCntfe'r{' fapt{' t,

ud qflfr ?ttr fu ft6t er qlr gfr i€ta"s, A+B+c, c+IFE, E+F+G ar3 e+n+l fsff ula rs O

Eitrrtit tl c, e ar3 a et B? d t:
(1) 7 (2)e {3) 11 (+)ffirsFfi6frsiil}r{e

119 Which of the skills do you consider most essential for a teacher?

(1) encourage children to search for knowledge
(2) have all the information for the children
(3) ability to make children memorize materials
(4) enable children to do well in tests

n

119 ryfoanrq sd rc 3,rr-fu gEFs fiffiS fd i:
(r) fiEfsrra*arr g'tdrrrrs d qfi er$ ffius rrs
(2) dfur,{i FS lr-fi FsF r{ars TilF
13y dfiap fss €rsi g ET€ ara'd A'drs'

(4) sTsirr 6 rrfirc'f€ @ Tsdra,'res't Adr q9a1

,l
T

i
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120 Absenteeism can be stopped
(1) Teaching
(3) Givine the sweets

(2) Punishing the students
(4) Contacting the parents

by:

120 atfrd'irfr O fdr d'fi eF{}?f'FIr Faru' t:
(t) wfirya;a
(3) 264{'F 6Es fur

tzl Hprafri,r6 rm da
(4) Hfirr{'. zrg frrreE aea''

ENVTORNMENTAT SCTENCE - 30 qUESTIONS (121-150)
L2l Which of the following is a biodegradable waste?

(1) Plastics (2) Polythene (3) Glass (4) None of these
L2t i6 ffi fiE€' fuF e fs'rds O g-sdS sd* aq ( biodegrada ut" r,"rtffi

ttl ue'rrfts (2) tdtus, (3) irnrF (4) fu6r fiat n6 Etr
122 Dachigam NationalPark is in which state?

(1) Himachal Pradesh (2)J&K (3) Tamilnadu (4) Sikkam
122 r'*drrr d'r-fr u.eE ffi d'iT fds A ?

(1) ffi trefu (zl afr al.3 axrnr tsl 3"fi{86'g' (41 fgfq}f
1,23 Who started the Chipko Movement?

(1) Kiran Bedi (2) S. L Bahuguna (3) Medha Patkar (4) None of these
L23 "fuuiffiss"fqF*ryilv ?

(1) fqil6 H (2) )irr. rirs. u3qnr (3) *u' u:r6rrir (4)fuis,tffi*Srr#
L24 When was PROJECT TTGER launched?

(1) 2011 (2) L97O (3) 1s73 (4) 2OO7
L24 q+Te z'stdrd r€, ry i'fpr i

(1) 2011 (211e70 (3) 1e73 p.l2007
L25 How much percentage of water in the oceans is drinkable?

(7197.2% (212.Ls% (31O.65yo (4t o.o%
125 xf+so er fffi q"lo u'Et fi-€ dar i I

(ll97.2o/o (212.L5% (31 0.650/o (41o.oo/o

t26
(2) Biochemical Orygen Demand in 5 days
(4) BiochemicalOxvgen Demand in S minutes

What is BODs?
(1)BiochemicalOxygen Demand in 5 hrs
(3)BiochemicalOxygen Demand in 5 months

t26

121 q'Sg A{Ts }rrrdfrfla, frHr-g s f-eir

1a7 eff AnTg amgrra gu.g 5 Tlffa

BOD5 dla ?

(1) sr$g Afi-{g },rrrddi{s, sfrr+g s ur?
(g) sde A+Ts l,rr{ffiir; *r€ s }rfi}

L27 What type of radiation is trapped on the earth's surface by the green housc etfcctf
(1) UV rays (2) y -rays (3) X-rays (4) lR rays

t27 Tild et EsJ 3 arftr d.fu tr q,d'F€ area e'ifr ffi et*Fdar Sd A ?

(1) uv kddi (2) v -@ (3) x -fu (4) lR fqrai
t28

(2) Summer during morning time
(4) Winter during morning time

london smog is found in?
(1) Summer during day time
(3) Wintelduring day time

128

(2) drd!frrrfrf€E€det
1a1s6$af fss Fta *

&s6fr$e*Fgdi I
(1) drd!frrrfrf€fus,eHlt
(3) ree=tat. fgs fs6' e Elt

t29
(2) Polar Vortex
(4) None ofthese

A tight whirlpool of wind formed in the stratosphere which surrounds lntirctGlsiailedf
(1) Polar stratospheric cloud
(3) Both (1) & (2)
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rffiaop F ule it A 9a m ru -€e' i i
111!rro s?ZslfiEil5'-+5 121tro*"tr
(3)€ (1)),13'(2) (4) bF H'AS 6fr
Bhopal gas tragedY occurred due to?
(1) Methane (2) Phosgene

3) Methyl-isocyanate 4) Methylamine

eu.s ir ura firO as ur6 ?

(1) )na6 (2)erfr6 t:l Htsryr.€tffitz (4) fiQuuxr$a
White lung cancer is caused bY?

(1) Asbestos (4) Silica

rfu ag3 er afd far nq fs t i
(l)fririrry tzltuo t:i fureettr t+lfirfrEl
Whictt of the following has greatest affinity for haemoglobin?

l)co (2)No

faa* t*' fqr d dffiqfa ?trs i? f fr sYr6r I z

(1) co (2) NO (3) 91-.'- (4) co,

ftre tirst nuclear disaster occurred in the history of world on

(1) 16th August, !!!!--14?5- 1945 (3)06'n August, 1945

frF"d g f;rfd'F fds ufiilm n-{i rrrrrrer ilg strfr fr ?

(1) 16 
"ft1rer, 

1945 (2) 25 )1fdTFr3', 1945 (3) 06)r',l-dtF3, 1945 (4) 08 )',fttTFr' 1945

wh"" did supreme court of India ordered Ministry of Environment & Forests to establish a sPecial

division to develop a green belt around Taj Mahal?
(2) 1ee4 (4) None of these

t }'frB'-g,'frt'drtr6| atte €r€l -q€t ufr egqro }'f3 fdr5.3

f53-d'6'6Tgar*fir3 i
(4)fiFrH''Amd

dtothestatusofNationa|park,issituatedin?
(2)Tamilnadu (3)West Bengal (4) Kerala

5q rr-A Fil""".U"g ffi a'rafi rgdtr gT sf,+r firsr fdPrf't g0 idt rfub t t

ol err ),€'Tmtrd (2)

Whictt of the following device(s) is used to control particulate pollutants?

(1) Gravity settling chamber
(3) Fabric filter

(2) Cyclone collector
(a) All of the above

@ ffi 1gg' fiilil3 $66€ d sf,+ ffi #rfr a
( 1 ) 61effi fraffidT +Hq-d (E|:€rd-dr€- atrrrc qEr) ( 2 ) Frsd.dE d.&d-zd

(3)fufu{ fEFa (4) Srd fu? F a

N.ise p"llutio" (Regulation & Control) Rules 2fi)1 deals with?

(1) Noise pollution due to fire crackers (2) Noise pollution due to loudspeakers

(3) Noise pollution due to public address system (a) Both (2) & (3)

du.reglretefahrora ad cgl fdcrt{ 2oo1 fiile ?tq ffis a ?

(1) u-arfiflr{t'f +5'ud-trg (2) ur-fu FRnTd 3 du'ud=trei

(3) Frdsfrlsd freta' urd'd 3 d6' (4) € (2) ),r3 (3)

nion for Conservation of Nature and Natural

Resources (IUCN) concerning endangered species of plants and animals?

(1) White Data Book (2) Red Data Book (3) Blue Data Book (4) None of these
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138 gsds tr3 TsrS ffi (tucN) e fdffirs effi rfgrsryafr frur t E .rg t dtn {r Uforrt ,{a
Fitsdi e *sq fgs ffi ftrg's fuDrrE ffi A ?

(1) €'fraaag{txtEa-af*srgl (2)ts3'eT${(err6srz"fusql
(3) W; ary ga tffi arra' faerq) (4) fgg6'fgg.Ag1 dfr

139 The BISHNOI Sect was founded by
(1) B. R. Ambedkar
(3) Guru iambheshwar

(2) Bhajan Lal

(a) King of Jodhpur
139 furBA fru-d-e€ faut'Fqfir.s Ss'fr ?

(1) fr. )rrq. *es{d (2) ytr6'68 
13) El=d frr+Brso (4) il.q Ud s a"s,

TN Highconcentrationofwhichofthefo||owingcaui
plants?
(1) sO, (2) co _(3) NO, (4) None of these

140 fdtrof€rf fdFS g€fwrre+, ft'TdfiS-dr, ri* 'r3 fA"ri @
Sirq g ilirg vge't I
(1) SO2 Q) co (3) NO2 (4)fus,'H'aS6itr

t4t Traces of radioactive waste present in water can cause?
(1) Cancer (2) Eye cataract (3) DNA breakage (4) All of these

t4t uEl f€fu U€ ge ed'ad-eqilfr g* A f6g'25. (traces of radioactir" *.rt") futr g E.r6-aE
nac ua i
trl *rs (2) ),ftr'E rf$ar@ (3) DNA 6 gz _z (4) Srd ffi F,e

t42 How much area is covered under forest in India?
(7133.47 % (2129.47 % (3122.47 % (41 7s.47 o/o

r42 srrs f* trdru'a s tga ftt r5$rs A ?

(u 33.47% (2l.2e.47% (3)22.47% (4) rs.47%
t43 The Greenhouse effect was first recognized by?

(1) Jean-Baptiste Greenwood
(3) Jean-Baptiste Greenhouse

(2) Jean-Baptiste Fourier
(4) None of the above

143

(2) Fn6-fufz'ru'efrlrd
(4) fsoF H'Ad Ffr

drfd u"_fu t tgq S rrgry i? f ufiilFi'fdd. affi i
( 1) ifrs,-euft'Fa dtdar_sg
(3) Ffra.-fufzra drtr6 T'_eF

LM
(1) Chloro-flouro carbons
(3) Carbon dioxide

(2) Methane
(4) All of these

Which of the following is responsible for global warming?

LM +6 ffir)rrtfutr drFqg sdflidr srri da ffilE-c t i
(t)*t3-aBt*are (2)fi{ts, (3)drdrra,3rs}rfidrr€F (4)Srdftr&Fre

145 Which of the following acid is present in Acid rain?
(1)HNO3 (2) H2SO4 (3)CH3COOH (4) Both (1) & (2)

145 +6 f6frrr,rtfid ryHmq silfl fq.$ fd-€'idT"s u'fsrr'fie'A ?

(1) HNO3 (2) H2SO4 (3) CH3COOH (4) €e (t) ),{-3 (2)
t46 The situation of depletion of ozone layer is referred as ozoNE HOLE,

below
(1)800 pu (2)400 DU (3)2Oo DU

if the ozone level decreases

(4) None of these
trc +fld tTfrtl rrcrir (ozone tayer) fuF S fr # "tdt1-rer trTifd AU lrfrrfi gffi I

20o DU (4)fuT6i,fq€. Am Ffr
L47 Whichofthefo||owingisanon.governmenta|organizationaeuicateoffi

(l-)World Wildlife Fund for Nature, tNDtA (2) Indian Board for Wildlife
(3) National Wildlife Action plan (4) All of these
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L47 ia tonar fiEil. fffg' M trrsitr ffi fi€ dfwrr uS esidq t I
(1) s,ir=r fqg fu-d e ssf,S ffi ffi 6A €E tzl fre dfrfir Itfr s.d$ E'dJ

tgl d'Fe61 ffi *E E"tarE-cS frtr6r (4) gro ffi F a
148 Everyone has the right to a Nationality is covered in .............. of Universal Declaration of Human

Rights ?

(1)Article 10 (2)Article 15 (3)Article 20 (4)Article 25

148 ud fiil* O oryafiarg'er fr t .................. fE{ uTr€'r-dtfr ff nq frtrd AA f (universal

declaration of human rights)

(r) a'rcdat' ro (2) r?rir*q5 15 (3) 
',{lira6r6 20 (4) },{rd-f{s 25

149 Ten percent law is given by
(1) Lindmann (2) Goldmann (3) Beckmann (4) None of these

L49 er r5frFg qt5;d (Ten percent law) tdF t fe-?. I
(1) fi$:sR6 (2) d6g}t6 (3) t{ f6, (4) fu6i H'dd Fff

150 Environment lmpact Assessment(ElA) was formally established in USA in year
(1) 1e57 (2) 1e6e (3) 1s71 (4) 1e73

150 iErerreird TdtF€ F tdfr (Environment impact assessmentl tftrdq" fefu ffi FrF Fqfirg 6nEfr

asl
(Ll Ls67 (2) 1e5e (3) 1e71 (4) 1e73
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